Practice 03.


Name: _______________  Period____   Date__________

Show your work and  don’t forget to include the units!

1.    A 28.0-g sample of nitrogen gas combines completely with 6.0 g of hydrogen gas to form ammonia. What is the mass     of ammonia formed?

2. A substance breaks down into its component elements when it is heated. If 68.0 grams of the substance is present before it is heated, what is the combined mass of the component elements after heating?
3. Copper sulfide is formed when copper and sulfur are heated together. In this reaction, 127 g of copper reacts with 41 g of sulfur. After the reaction is complete, 9 g of sulfur remains unreacted. What is the mass of cop-per sulfide formed?

4. Calculate the density of a material that has a mass of 52.45 g and a volume of 13.5 cm3. 

5. A student finds a rock on the way to school.  In the laboratory he determines that the volume of the rock is 22.7 mL, and the mass in 39.943 g.   What is the density of the rock?

6. The density of silver is 10.49 g/cm3.  If a sample of pure silver has a volume of 12.993 cm3, what is the mass? 

7. What is the mass of a 350 cm3 sample of pure silicon with a density of 2.336 g/cm3?

8. Pure gold has a density of 19.32 g/cm3.  How large would a piece of gold be if it had a mass of 318.97 g? 

9. The density of lead is 11.34 g/ cm3.  What would be the volume of a 200.0 g sample of this metal?

10. The mass of a toy spoon is 7.5 grams, and its volume is 3.2 ml.  What is the density of the toy spoon? 

11.  A mechanical pencil has the density of 3 grams per cubic centimeter.  The volume of the pencil is 15.8 cubic centimeters. What is the mass of the pencil?

12.  Mercury metal is poured into a graduated cylinder that holds exactly 22.5 mL. The mercury used to fill the cylinder weighs 306.0 g. From this information, calculate the density of mercury.
13. What is the weight of the ethanol that exactly fills a 200.0 mL container? The density of ethanol  is 0.789 g/mL.

14. A rectangular block of copper metal weighs 1896 g. The dimensions of the block are 8.4 cm by 5.5 cm by 4.6 cm. From this data, what is the density of copper?  (hint:  find the volume of a block first)

15.  What volume of silver metal will weigh exactly 2500.0 g. The density of silver is 10.5 g/cm3.

16. Find the mass of 250.0 mL of benzene. The density of benzene is 0.8765 g/mL.

17. A block of lead has dimensions of 4.50 cm by 5.20 cm by 6.00 cm. The block weighs 1587 g. From this information, calculate the density of lead.

18. 5 g of iron shot is added to a graduated cylinder containing 45.50 mL of water. The water level rises to the 49.10 mL mark.  From this information, calculate the density of iron.










